Garland Independent School District

GISD Sourcing Bid Tab Report

| Bid#: | 31461 | | 152-15 Custodial |
|-------|-------|--------|------------------|
| | | | Supplies |
| | | Title: | (Warehoused) |

| Quote# | Vendor / Supplier | EPCNT | Discount |
|--------|-------------------------------------|-------|--------------|
| 459570 | AFP SCHOOL SUPPLY | Yes | 12% off |
| 459673 | COMPETITIVE CHOICE | Yes | n/a |
| 459701 | DAXWELL | Yes | None |
| 459684 | *EMPIRE PAPER COMPANY | no | 0. items are |
| 459573 | GENESIS II INC | Yes | n/a |
| 459585 | INTERBORO PACKAGING CORP | Yes | 50% off |
| 459704 | LAST GROUP ENTERPRISES | yes | varies |
| 459683 | MCKINNEY OFFICE SUPPLY INCORPORATED | Yes | Up to 90% |
| 459705 | POLLOCK PAPER DISTRIBUTORS | YES | 20-40% |
| 459702 | PYRAMID SCHOOL PRODUCTS | YES | NO BID |
| 459603 | TRONEX INTERNATIONAL INC | yes | 33% |
| 459637 | W W GRAINGER INCORPORATED DBA | Yes | 0% |
| 459563 | WEDGE SUPPLY INC | Yes | 35% |
| 459688 | WEXFORD LABS INCORPORATED | YES | 5% |
| | UNIPAK CORP | YES | 10% |
| | M.A.N.S. DISTRIBUTORS, INC | YES | 10% |
| | DBC INDUSTRIAL SUPPLY | | |
| | XPEDX LCC, A VERITIV CO | | |

*Confidential

| | | | | | *Confidential | | | |
|-------|---|------------------|--------|-----|---|-----|---------------|----------------|
| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
| 1 | BROOM, PLASTIC ANGLE (QUALITY), #932A OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 250 | \$2.67 | \$667.50 |
| · | | | | | | | V 2.01 | V |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 250 | \$3.26 | \$815.00 |
| | | | | | | | | |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 250 | \$3.41 | \$852.50 |
| | | | | EA | GENESIS II INC | 250 | \$3.92 | \$980.00 |
| | | | | | | | | |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 250 | \$4.06 | \$1,015.00 |
| | | | | EA | WEDGE SUPPLY INC | 250 | \$4.09 | \$1,022.50 |
| | | | | | | | | . , |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 250 | \$4.64 | \$1,160.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 250 | \$4.82 | \$1,205.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 250 | \$6.78 | \$1,695.00 |
| | | | | | | | | |
| | | | | EA | COMPETITIVE CHOICE | 250 | \$8.66 | \$2,165.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | W W GRAINGER INCORPORATED DBA GRAINGER | 250 | \$500.00 | \$125,000.00 |
| | | | | | | | | |
| 2 | LOBBY TOY BROOM | | Y | EA | XPEDX LLC, A VERITIV CO. | 10 | \$1.75 | \$17.50 |
| | | | | EA | AFP SCHOOL SUPPLY | 10 | \$1.95 | \$19.50 |
| | | | | | | | | |
| | | | | EA | WEDGE SUPPLY INC | 10 | \$2.12 | \$21.20 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 10 | \$2.21 | \$22.10 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|-------------------------------------|------------------|--------|-----|-------------------------------------|-----|---------------|----------------|
| | | | | EA | GENESIS II INC | 10 | \$2.63 | \$26.30 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 10 | \$2.99 | \$29.90 |
| | | | | | MCKINNEY OFFICE SUPPLY INCORPORATED | 10 | \$3.31 | \$33.10 |
| | | | | | | | | |
| | | | | | POLLOCK PAPER DISTRIBUTORS | 10 | \$3.50 | |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 10 | \$3.55 | \$35.50 |
| | | | | EA | COMPETITIVE CHOICE | 10 | \$4.27 | \$42.70 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| 3 | BROOM HAIR 24" W/HANDLE | Y | | EA | WEDGE SUPPLY INC | 20 | \$8.71 | \$174.20 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 20 | \$8.92 | \$178.40 |
| | | | | | GENESIS II INC | 20 | f0.47 | \$400.40 |
| | | | | EA | GENESIS II INC | 20 | \$9.47 | \$189.40 |
| | | | | EA | AFP SCHOOL SUPPLY | 20 | \$10.53 | \$210.60 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 20 | \$11.22 | \$224.40 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 20 | \$12.35 | \$247.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 20 | \$14.04 | \$280.80 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 20 | \$16.67 | \$333.40 |
| | DUST MOP FRAME 18" X 5" W/HANDLE | N | MD | F4 | | 20 | \$2.52 | \$40F.00 |
| 4 | WHANDLE | N | WB | EA | DBC INDUSTRIAL SUPPLY | 30 | \$3.53 | \$105.90 |
| | | N | 4NS | EA | *EMPIRE PAPER COMPANY | | | |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 30 | \$6.04 | \$181.20 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 30 | \$6.22 | \$186.60 |
| | | | | EA | AFP SCHOOL SUPPLY | 30 | \$6.27 | \$188.10 |
| | | | | EA | WEDGE SUPPLY INC | 30 | \$6.44 | \$193.20 |
| | | | | EA | GENESIS II INC | 30 | \$7.31 | \$219.30 |
| | | | | | POLLOCK PAPER DISTRIBUTORS | 30 | \$7.94 | |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|------------------------------------|------------------|--------|-----|-------------------------------------|-----|---------|----------------|
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 30 | \$8.35 | \$250.50 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 30 | \$12.31 | \$369.30 |
| 5 | DUST MOP HEAD, 18" X 5" | | 4MO | EA | AFP SCHOOL SUPPLY | 100 | \$2.11 | \$211.00 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 100 | \$2.98 | \$298.00 |
| | | | | EA | GENESIS II INC | 100 | \$3.09 | \$309.00 |
| | | | | EA | WEDGE SUPPLY INC | 100 | \$3.23 | \$323.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 100 | \$4.94 | \$494.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 100 | \$5.80 | \$580.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 100 | \$7.43 | \$743.00 |
| | | | | EA | COMPETITIVE CHOICE | 100 | \$7.58 | \$758.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 100 | \$8.80 | \$880.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 100 | \$14.74 | \$1,474.00 |
| 6 | DUST MOP FRAME 48"X 5" W/HANDLE | Y | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 20 | \$7.57 | \$151.40 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 20 | \$7.58 | \$151.60 |
| | | | | EA | WEDGE SUPPLY INC | 20 | \$8.12 | \$162.40 |
| | | | | EA | AFP SCHOOL SUPPLY | 20 | \$8.50 | \$170.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 20 | \$8.81 | \$176.20 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 20 | \$9.30 | \$186.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 20 | \$10.25 | \$205.00 |
| | | | | EA | GENESIS II INC | 20 | \$10.31 | \$206.20 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 20 | \$11.02 | \$220.40 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-------------------------------------|------|---------|----------------|
| 7 | DUST MOP HEAD, 48"X 5" | | 4MO | EA | AFP SCHOOL SUPPLY | 100 | \$4.76 | \$476.00 |
| | | Y | | | PYRAMID SCHOOL PRODUCTS | 100 | \$5.82 | |
| | | · | | | MCKINNEY OFFICE SUPPLY INCORPORATED | 100 | \$6.08 | \$608.00 |
| | | | | | | | | |
| | | | | | GENESIS II INC | 100 | \$6.58 | \$658.00 |
| | | | | EA | WEDGE SUPPLY INC | 100 | \$6.72 | \$672.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 100 | \$10.59 | \$1,059.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 100 | \$12.58 | \$1,258.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 100 | \$13.05 | \$1,305.00 |
| | | | | EA | COMPETITIVE CHOICE | 100 | \$19.00 | \$1,900.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 100 | \$19.90 | \$1,990.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| 8 | WET MOP, 24 OZ LOOP WEBB/TAIL BAND, RAYON | | 4MO | EA | AFP SCHOOL SUPPLY | 1500 | \$2.34 | \$3,510.00 |
| | | Y | | EA | POLLOCK PAPER DISTRIBUTORS | 1500 | \$3.21 | \$4,815.00 |
| | | | | | PYRAMID SCHOOL PRODUCTS | 1500 | \$3.59 | \$5,385.00 |
| | | | | | | | | |
| | | | | | GENESIS II INC | 1500 | \$3.84 | \$5,760.00 |
| | | | | EA | WEDGE SUPPLY INC | 1500 | \$4.02 | \$6,030.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 1500 | \$5.59 | \$8,385.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 1500 | \$5.60 | \$8,400.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 1500 | \$5.72 | \$8,580.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 1500 | \$9.32 | \$13,980.00 |
| | | | | EA | COMPETITIVE CHOICE | 1500 | \$9.40 | \$14,100.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| 9 | HANDLE WET MOP 1-1/4" X 60" QUICK CHANGE, LBI 605 OR EQUAL | Y | | EA | XPEDX LLC, A VERITIV CO. | 200 | \$4.40 | \$880.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|-------------------------------------|-----|---------|----------------|
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 200 | \$4.65 | \$930.00 |
| | | | | EA | AFP SCHOOL SUPPLY | 200 | \$4.66 | \$932.00 |
| | | | | EA | GENESIS II INC | 200 | \$4.88 | \$976.00 |
| | | | | EA | WEDGE SUPPLY INC | 200 | \$5.01 | \$1,002.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 200 | \$5.33 | \$1,066.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 200 | \$5.52 | \$1,104.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 200 | \$5.70 | \$1,140.00 |
| | | | | EA | COMPETITIVE CHOICE | 200 | \$8.10 | \$1,620.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 200 | \$9.32 | \$1,864.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| 10 | UTILITY PAD HOLDER, GRAY PAD HOLDER #405 OR EQUAL | | 4MO | PK | AFP SCHOOL SUPPLY | 20 | \$2.91 | \$58.20 |
| | | Y | | PK | PYRAMID SCHOOL PRODUCTS | 20 | \$3.32 | \$66.40 |
| | | | | PK | WEDGE SUPPLY INC | 20 | \$3.52 | \$70.40 |
| | | | | PK | POLLOCK PAPER DISTRIBUTORS | 20 | \$5.72 | \$114.40 |
| | | | | PK | MCKINNEY OFFICE SUPPLY INCORPORATED | 20 | \$6.04 | \$120.80 |
| | | | | PK | DBC INDUSTRIAL SUPPLY | 20 | \$6.75 | \$135.00 |
| | | | | PK | COMPETITIVE CHOICE | 20 | \$7.87 | \$157.40 |
| | | | | PK | XPEDX LLC, A VERITIV CO. | 20 | \$15.73 | \$314.60 |
| | | | | PK | *EMPIRE PAPER COMPANY | | | |
| 11 | WET MOP BUCKET, WHITE #2635-3Y OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 25 | \$21.62 | \$540.50 |
| | | Y | | EA | WEDGE SUPPLY INC | 25 | \$23.83 | \$595.75 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 25 | \$24.98 | \$624.50 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 25 | \$29.22 | \$730.50 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|--|-----|---------|-----------------|
| | | | | EA | XPEDX LLC, A VERITIV CO. | 25 | \$29.80 | \$745.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 25 | \$30.11 | \$752.75 |
| | | | | | DBC INDUSTRIAL SUPPLY | 25 | \$35.75 | |
| | | | | | | | | |
| 12 | BUCKET, PLASTIC, 2 GAL | Y | | EA | PYRAMID SCHOOL PRODUCTS | 140 | \$3.07 | \$429.80 |
| | | | | EA | GENESIS II INC | 140 | \$3.19 | \$446.60 |
| | | | | EA | AFP SCHOOL SUPPLY | 140 | \$3.72 | \$520.80 |
| | | | | EA | WEDGE SUPPLY INC | 140 | \$3.79 | \$530.60 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 140 | \$4.10 | \$574.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 140 | \$4.05 | \$567.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 140 | \$5.50 | \$770.00 |
| | | | | LA | | | ψ3.30 | \$770.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY MCKINNEY OFFICE SUPPLY | 140 | \$6.41 | \$897.40 |
| | | | | EA | INCORPORATED | 140 | \$10.40 | \$1,456.00 |
| 13 | WET MOP WRINGER, WHITE #4000Y OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 60 | \$29.19 | \$1,751.40 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 60 | \$32.98 | \$1,978.80 |
| | | | | EA | WEDGE SUPPLY INC | 60 | \$38.70 | \$2,322.00 |
| | | | | FA | POLLOCK PAPER DISTRIBUTORS | 60 | \$40.40 | \$2,424.00 |
| | | | | | | | | |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 60 | \$41.15 | \$2,469.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 60 | \$47.21 | \$2,832.60 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 60 | \$56.04 | \$3,362.40 |
| 14 | COMMODE MOP, WET, ACRYLIC, BOSWELL #1301-C OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 300 | \$0.38 | \$114.00 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 300 | \$0.46 | \$138.00 |
| | | | | EA | GENESIS II INC | 300 | \$0.54 | \$162.00 |
| | | | | EA | WEDGE SUPPLY INC | 300 | \$0.54 | \$162.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|-------------------------------------|-----|---------|----------------|
| | | | | EA | XPEDX LLC, A VERITIV CO. | 300 | \$0.58 | \$174.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 300 | \$0.65 | \$195.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 300 | \$0.70 | \$210.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 300 | \$0.72 | \$216.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | COMPETITIVE CHOICE | 300 | \$1.47 | \$441.00 |
| 15 | DUST PAN, LOBBY, LONG HANDLE, RUBBERMAID #2007 OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 50 | \$4.92 | \$246.00 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 50 | \$5.65 | \$282.50 |
| | | | | EA | WEDGE SUPPLY INC | 50 | \$5.97 | \$298.50 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 50 | \$6.25 | \$312.50 |
| | | | | EA | GENESIS II INC | 50 | \$6.36 | \$318.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 50 | \$6.37 | \$318.50 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 50 | \$7.60 | \$380.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 50 | \$8.98 | \$449.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 50 | \$21.13 | \$1,056.50 |
| | | | | EA | COMPETITIVE CHOICE | 50 | \$21.46 | \$1,073.00 |
| 16 | PAD, BURNISHING, 27" HOG HAIR | N | WB | EA | DBC INDUSTRIAL SUPPLY | 200 | \$2.88 | \$576.00 |
| | | | | EA | AFP SCHOOL SUPPLY | 200 | \$4.62 | \$924.00 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 200 | \$4.99 | \$998.00 |
| | | | | EA | GENESIS II INC | 200 | \$5.03 | \$1,006.00 |
| | | | | EA | WEDGE SUPPLY INC | 200 | \$5.10 | \$1,020.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 200 | \$5.31 | \$1,062.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-----------------------------|-----|---------|----------------|
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 200 | \$6.05 | \$1,210.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 200 | \$36.41 | \$7,282.00 |
| 17 | PAD, POLISHING, WHITE, 3M #3300 OR EQUAL | | 4MO | | AFP SCHOOL SUPPLY | 100 | \$2.00 | \$200.00 |
| | | | | | PYRAMID SCHOOL PRODUCTS | 100 | \$2.13 | \$213.00 |
| | | | | | GENESIS II INC | 100 | \$2.18 | \$218.00 |
| | | | | | | | | |
| | | | | | WEDGE SUPPLY INC | 100 | \$2.22 | \$222.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 100 | \$2.49 | \$249.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 100 | \$2.98 | \$298.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 100 | \$5.73 | \$573.00 |
| | | | | EA | COMPETITIVE CHOICE | 100 | \$7.07 | \$707.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 100 | \$16.21 | \$1,621.00 |
| 18 | PAD, STRIPPING, 20" BLACK | | 4MO | EA | AFP SCHOOL SUPPLY | 250 | \$2.00 | \$500.00 |
| | | Υ | | EA | GENESIS II INC | 250 | \$2.15 | \$537.50 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 250 | \$2.15 | \$537.50 |
| | | | | EA | WEDGE SUPPLY INC | 250 | \$2.22 | \$555.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 250 | \$2.35 | \$587.50 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 250 | \$2.49 | \$622.50 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 250 | \$2.85 | \$712.50 |
| | | | | EA | COMPETITIVE CHOICE | 250 | \$7.88 | \$1,970.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 250 | \$16.21 | \$4,052.50 |
| 19 | PAD, POLISHING, 20" HOG HAIR | | 4MO | EA | AFP SCHOOL SUPPLY | 10 | \$2.04 | \$20.40 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 10 | \$2.15 | \$21.50 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|-------------|-----|-------------------------------------|-----|----------|----------------|
| | | | | EA | WEDGE SUPPLY INC | 10 | \$2.26 | \$22.60 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 10 | \$2.49 | \$24.90 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 10 | \$2.51 | \$25.10 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 10 | \$2.85 | \$28.50 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 10 | \$16.21 | \$162.10 |
| 20 | PAD, BUFFING, LASER X HOG HAIR BURNISHING, NATURAL BLEND, AMERICO #AM-3420 OR EQUAL | | NO AWARD | EA | AFP SCHOOL SUPPLY | 10 | \$2.04 | \$20.40 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 10 | \$2.33 | \$23.30 |
| 21 | PAD, LASER X, WHITE POLISHING, 20", 2000 RPM | | NO AWARD | EA | AFP SCHOOL SUPPLY | 10 | \$2.00 | \$20.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 10 | \$2.17 | \$21.70 |
| | | | | EA | COMPETITIVE CHOICE | 10 | \$3.80 | \$38.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 10 | \$3.82 | \$38.20 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 10 | \$16.21 | \$162.10 |
| 22 | SCOURING PAD, 4"X 10", GENERAL PURPOSE, 10/BOX, 3M, SCOTCH- BRITE OR EQUAL | | 4NS | вх | DBC INDUSTRIAL SUPPLY | 350 | \$0.22 | \$77.00 |
| | | Y | | вх | WEDGE SUPPLY INC | 350 | \$2.08 | \$728.00 |
| | | | | вх | PYRAMID SCHOOL PRODUCTS | 350 | \$2.59 | \$906.50 |
| | | | | вх | XPEDX LLC, A VERITIV CO. | 350 | \$5.72 | \$2,002.00 |
| | | | | вх | AFP SCHOOL SUPPLY | 350 | \$9.69 | \$3,391.50 |
| | | | | вх | M.A.N.S. DISTRIBUTORS, INC. | 350 | \$10.90 | \$3,815.00 |
| | | | | вх | MCKINNEY OFFICE SUPPLY INCORPORATED | 350 | \$19.33 | \$6,765.50 |
| | | | | вх | POLLOCK PAPER DISTRIBUTORS | 350 | \$19.73 | \$6,905.50 |
| | | | | вх | COMPETITIVE CHOICE | 350 | \$174.36 | \$61,026.00 |
| 23 | STRIP SCREEN, 20", 100 GRIT FLOOR PAD | | NO AWARD | EA | WEDGE SUPPLY INC | 300 | \$3.47 | \$1,041.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-----------------------------|-----|----------------|----------------|
| | | | | EA | AFP SCHOOL SUPPLY | 300 | \$3.55 | \$1,065.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 300 | \$3.79 | \$1,137.00 |
| | | | | EA | GENESIS II INC | 300 | \$3.86 | \$1,158.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 300 | \$5.09 | \$1,527.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 300 | \$85.33 | \$25,599.00 |
| 24 | SCRUB BRUSH, 8-1/2 GONG BRUSH | | 4MO | EA | AFP SCHOOL SUPPLY | 300 | \$1.62 | \$486.00 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 300 | \$2.28 | \$684.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 300 | \$2.45 | \$735.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 300 | \$2.65 | \$795.00 |
| | | | | EA | GENESIS II INC | 300 | \$2.84 | \$852.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 300 | \$3.00 | \$900.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 300 | \$3.13 | \$939.00 |
| | | | | EA | WEDGE SUPPLY INC | 300 | \$3.47 | \$1,041.00 |
| 25 | SPRAY BOTTLE, WITH TRIGGER PUMP, 22oz, CONTINENTAL #922B OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 700 | \$0. 61 | \$427.00 |
| | | Y | | | | 700 | | |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 700 | \$0.69 | \$483.00 |
| | | | | EA | GENESIS II INC | 700 | \$0.84 | \$588.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 700 | \$0.96 | \$672.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 700 | \$1.00 | \$700.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 700 | \$1.15 | \$805.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 700 | \$1.28 | \$896.00 |
| 26 | GLOVES, RUBBER, MEDIUM | | 4MO | PR | AFP SCHOOL SUPPLY | 250 | \$0.40 | \$100.00 |
| | | Υ | | PR | DBC INDUSTRIAL SUPPLY | 250 | \$0.42 | \$105.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-----------------------------|-----|--------|----------------|
| | | | | PR | PYRAMID SCHOOL PRODUCTS | 250 | \$0.44 | \$110.00 |
| | | | | PR | GENESIS II INC | 250 | \$0.46 | \$115.00 |
| | | | | PR | WEDGE SUPPLY INC | 250 | \$0.49 | \$122.50 |
| | | | | PR | XPEDX LLC, A VERITIV CO. | 250 | \$0.86 | \$215.00 |
| | | | | PR | POLLOCK PAPER DISTRIBUTORS | 250 | \$5.06 | \$1,265.00 |
| 27 | GLOVES, RUBBER, LARGE | | 4MO | PR | AFP SCHOOL SUPPLY | 300 | \$0.40 | \$120.00 |
| | | Υ | | PR | DBC INDUSTRIAL SUPPLY | 300 | \$0.42 | \$126.00 |
| | | | | PR | PYRAMID SCHOOL PRODUCTS | 300 | \$0.44 | \$132.00 |
| | | | | PR | GENESIS II INC | 300 | \$0.46 | \$138.00 |
| | | | | PR | WEDGE SUPPLY INC | 300 | \$0.49 | \$147.00 |
| | | | | PR | XPEDX LLC, A VERITIV CO. | 300 | \$0.86 | \$258.00 |
| | | | | PR | POLLOCK PAPER DISTRIBUTORS | 300 | \$5.06 | \$1,518.00 |
| 28 | GLOVE, LATEX, SMALL, 100/BX, NON- STERILE, CLEAN HAND #61078 OR EQUAL | Y | | вх | WEDGE SUPPLY INC | 100 | \$2.19 | \$219.00 |
| | | | | вх | INTERBORO PACKAGING CORP | 100 | \$2.49 | \$249.00 |
| | | | | вх | DAXWELL | 100 | \$2.60 | \$260.00 |
| | | | | вх | UNIPAK CORP | 100 | \$2.90 | \$290.00 |
| | | | | вх | M.A.N.S. DISTRIBUTORS, INC. | 100 | \$3.24 | \$324.00 |
| | | | | вх | DBC INDUSTRIAL SUPPLY | 100 | \$3.27 | \$327.00 |
| | | | | вх | PYRAMID SCHOOL PRODUCTS | 100 | \$3.32 | \$332.00 |
| | | | | вх | AFP SCHOOL SUPPLY | 100 | \$3.35 | \$335.00 |
| | | | | вх | POLLOCK PAPER DISTRIBUTORS | 100 | \$3.35 | \$335.00 |
| | | | | вх | GENESIS II INC | 100 | \$3.62 | \$362.00 |
| | | | | вх | XPEDX LLC, A VERITIV CO. | 100 | \$4.25 | \$425.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|-------------------------------------|------|--------|----------------|
| | | | | вх | MCKINNEY OFFICE SUPPLY INCORPORATED | 100 | \$5.19 | \$519.00 |
| | | | | вх | COMPETITIVE CHOICE | 100 | \$5.26 | \$526.00 |
| 29 | GLOVES, LATEX, MEDIUM, 100/BX, NON-STERILE, CLEAN HAND #61078 OR EQUAL | Y | | вх | WEDGE SUPPLY INC | 900 | \$2.19 | \$1,971.00 |
| | | | | вх | DAXWELL | 900 | \$2.60 | \$2,340.00 |
| | | | | вх | INTERBORO PACKAGING CORP | 900 | \$2.70 | \$2,430.00 |
| | | | | вх | UNIPAK CORP | 900 | \$2.90 | \$2,610.00 |
| | | | | вх | M.A.N.S. DISTRIBUTORS, INC. | 900 | \$3.24 | \$2,916.00 |
| | | | | вх | DBC INDUSTRIAL SUPPLY | 900 | \$3.27 | \$2,943.00 |
| | | | | вх | PYRAMID SCHOOL PRODUCTS | 900 | \$3.32 | \$2,988.00 |
| | | | | вх | AFP SCHOOL SUPPLY | 900 | \$3.35 | \$3,015.00 |
| | | | | вх | POLLOCK PAPER DISTRIBUTORS | 900 | \$3.35 | \$3,015.00 |
| | | | | вх | GENESIS II INC | 900 | \$3.62 | \$3,258.00 |
| | | | | вх | XPEDX LLC, A VERITIV CO. | 900 | \$4.25 | \$3,825.00 |
| | | | | вх | MCKINNEY OFFICE SUPPLY INCORPORATED | 900 | \$5.19 | \$4,671.00 |
| | | | | вх | COMPETITIVE CHOICE | 900 | \$5.28 | \$4,752.00 |
| 30 | GLOVES, LATEX, LARGE, 100/BX, NON-STERILE, CLEAN HAND #61078 OR EQUAL | Y | | вх | WEDGE SUPPLY INC | 1100 | \$2.19 | \$2,409.00 |
| | | | | вх | DAXWELL | 1100 | \$2.60 | \$2,860.00 |
| | | | | вх | INTERBORO PACKAGING CORP | 1100 | \$2.70 | \$2,970.00 |
| | | | | вх | UNIPAK CORP | 1100 | \$2.90 | \$3,190.00 |
| | | | | вх | M.A.N.S. DISTRIBUTORS, INC. | 1100 | \$3.24 | \$3,564.00 |
| | | | | вх | DBC INDUSTRIAL SUPPLY | 1100 | \$3.27 | \$3,597.00 |
| | | | | вх | PYRAMID SCHOOL PRODUCTS | 1100 | \$3.32 | \$3,652.00 |
| | | | | вх | AFP SCHOOL SUPPLY | 1100 | \$3.35 | \$3,685.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-------------------------------------|------|----------|----------------|
| | | | | вх | POLLOCK PAPER DISTRIBUTORS | 1100 | \$3.35 | \$3,685.00 |
| | | | | вх | GENESIS II INC | 1100 | \$3.62 | \$3,982.00 |
| | | | | вх | XPEDX LLC, A VERITIV CO. | 1100 | \$4.25 | \$4,675.00 |
| | | | | вх | COMPETITIVE CHOICE | 1100 | \$4.37 | \$4,807.00 |
| | | | | вх | MCKINNEY OFFICE SUPPLY INCORPORATED | 1100 | \$5.19 | \$5,709.00 |
| 31 | DISINFECTING WIPES, FRESH SCENT, 500/BOX, 2 BOX/CASE | | 4NS | EA | DBC INDUSTRIAL SUPPLY | 200 | \$2.28 | \$456.00 |
| | | | 1NL | EA | AFP SCHOOL SUPPLY | 200 | \$4.47 | \$894.00 |
| | | | 1NL | EA | PYRAMID SCHOOL PRODUCTS | 200 | \$4.85 | \$970.00 |
| | | Y | | EA | XPEDX LLC, A VERITIV CO. | 200 | \$21.67 | \$4,334.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 200 | \$24.59 | \$4,918.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 200 | \$26.11 | \$5,222.00 |
| | | | | EA | WEDGE SUPPLY INC | 200 | \$46.24 | \$9,248.00 |
| | | | | EA | COMPETITIVE CHOICE | 200 | \$57.07 | \$11,414.00 |
| | | | | EA | WEXFORD LABS INCORPORATED | 200 | \$123.80 | \$24,760.00 |
| 32 | TOWELS, CUSTODIAL, 13"X 24" | Y | | вх | PYRAMID SCHOOL PRODUCTS | 800 | \$6.98 | \$5,584.00 |
| | | | | вх | XPEDX LLC, A VERITIV CO. | 800 | \$23.72 | \$18,976.00 |
| | | | | вх | WEDGE SUPPLY INC | 800 | \$23.82 | \$19,056.00 |
| | | | | вх | M.A.N.S. DISTRIBUTORS, INC. | 800 | \$70.14 | \$56,112.00 |
| | | | | вх | DBC INDUSTRIAL SUPPLY | 800 | \$78.29 | \$62,632.00 |
| 33 | GUM REMOVER SPRAY 6 OZ. | Y | | CN | WEDGE SUPPLY INC | 10 | \$1.77 | \$17.70 |
| | | | | CN | XPEDX LLC, A VERITIV CO. | 10 | \$1.95 | \$19.50 |
| | | | | CN | PYRAMID SCHOOL PRODUCTS | 10 | \$2.08 | \$20.80 |
| | | | | CN | *EMPIRE PAPER COMPANY | | | |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-------------------------------------|------|---------|----------------|
| | | | | CN | GENESIS II INC | 10 | \$2.64 | \$26.40 |
| | | | | CN | DBC INDUSTRIAL SUPPLY | 10 | \$3.23 | \$32.30 |
| | | | | CN | COMPETITIVE CHOICE | 10 | \$4.50 | \$45.00 |
| | | | | CN | M.A.N.S. DISTRIBUTORS, INC. | 10 | \$6.35 | \$63.50 |
| | | | | CN | POLLOCK PAPER DISTRIBUTORS | 10 | \$32.75 | \$327.50 |
| 34 | VOMIT ABSORB, 1 LB BAG | Y | | EA | PYRAMID SCHOOL PRODUCTS | 1500 | \$1.74 | \$2,610.00 |
| | | | | EA | GENESIS II INC | 1500 | \$1.92 | \$2,880.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | AFP SCHOOL SUPPLY | 1500 | \$4.23 | \$6,345.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 1500 | \$4.75 | \$7,125.00 |
| | | | | EA | WEDGE SUPPLY INC | 1500 | \$5.34 | \$8,010.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 1500 | \$6.17 | \$9,255.00 |
| | CARRET OF TAKER US OR ANGE 4 | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 1500 | \$6.59 | \$9,885.00 |
| 35 | CARPET CLEANER, H2 ORANGE, 1 GALLON CONTAINER CONCENTRATE, 4GL/CS | N | WB | GL | DBC INDUSTRIAL SUPPLY | 80 | \$25.08 | \$2,006.40 |
| | | Y | | GL | WEDGE SUPPLY INC | 80 | \$26.56 | \$2,124.80 |
| 36 | VANDALISM MARK REMOVER, 12 OZ. | Y | | CN | PYRAMID SCHOOL PRODUCTS | 10 | \$2.34 | \$23.40 |
| | | | | CN | WEDGE SUPPLY INC | 10 | \$2.88 | \$28.80 |
| | | | | CN | *EMPIRE PAPER COMPANY | | | |
| | | | | CN | XPEDX LLC, A VERITIV CO. | 10 | \$4.30 | \$43.00 |
| | | | | CN | MCKINNEY OFFICE SUPPLY INCORPORATED | 10 | \$4.47 | \$44.70 |
| | | | | CN | DBC INDUSTRIAL SUPPLY | 10 | \$4.98 | \$49.80 |
| | | | | CN | COMPETITIVE CHOICE | 10 | \$5.18 | \$51.80 |
| | | | | CN | POLLOCK PAPER DISTRIBUTORS | 10 | \$40.39 | \$403.90 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|-------------------------------------|-----|---------|----------------------|
| 37 | ENDUST, 15.5 OZ, 12/CS | | 4NS | CN | WEDGE SUPPLY INC | 36 | \$7.08 | \$254.88 |
| | | Y | | CN | MCKINNEY OFFICE SUPPLY INCORPORATED | 36 | \$7.61 | \$273.96 |
| | | | | CN | PYRAMID SCHOOL PRODUCTS | 36 | \$7.98 | \$287.28 |
| | | | | CN | XPEDX LLC, A VERITIV CO. | 36 | \$8.15 | \$293.40 |
| | | | | CN | DBC INDUSTRIAL SUPPLY | 36 | \$8.33 | \$299.88 |
| | | | | CN | POLLOCK PAPER DISTRIBUTORS | 36 | \$50.50 | \$1,818.00 |
| 38 | WINDOW SQUEEGE, 12" WITH HANDLE, UNGER PRO OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 45 | \$1.03 | |
| | | Y | | | PYRAMID SCHOOL PRODUCTS | 45 | \$2.73 | |
| | | · | | EA | *EMPIRE PAPER COMPANY | | 7 | |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 45 | \$4.25 | \$191.25 |
| | | | | EA | GENESIS II INC | 45 | \$4.89 | \$220.05 |
| | | | | | M.A.N.S. DISTRIBUTORS, INC. | 45 | \$5.40 | \$243.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 45 | \$6.41 | \$243.00 \$288.45 |
| | | | | | | | | |
| | | | | EA | WEDGE SUPPLY INC | 45 | \$12.02 | \$540.90 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 45 | \$12.55 | \$564.75 |
| | RAZOR BLADE SCRAPPER, HYDE | | | | COMPETITIVE CHOICE | 45 | \$14.32 | |
| 39 | TOOLS #13000 OR EQUAL | Y | | | PYRAMID SCHOOL PRODUCTS | 250 | \$0.98 | |
| | | | | EA | AFP SCHOOL SUPPLY | 250 | \$1.07 | \$267.50 |
| | | | | | WEDGE SUPPLY INC | 250 | \$1.21 | \$302.50 |
| | | | | EA | GENESIS II INC | 250 | \$1.23 | \$307.50 |
| | | | | | XPEDX LLC, A VERITIV CO. | 250 | \$1.48 | |
| | | | | EA | COMPETITIVE CHOICE | 250 | \$1.59 | \$397.50 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--------------------------------------|------------------|--------|-----|-------------------------------------|-----|---------|----------------|
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 250 | \$1.87 | \$467.50 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 250 | \$2.00 | \$500.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 250 | \$2.08 | \$520.00 |
| 40 | RAZOR BLADE, SINGLE EDGE (100/BX) | Y | | вх | GENESIS II INC | 10 | \$1.84 | \$18.40 |
| | | | | вх | AFP SCHOOL SUPPLY | 10 | \$4.30 | \$43.00 |
| | | | | вх | MCKINNEY OFFICE SUPPLY INCORPORATED | 10 | \$4.31 | \$43.10 |
| | | | | вх | M.A.N.S. DISTRIBUTORS, INC. | 10 | \$4.63 | \$46.30 |
| | | | | вх | DBC INDUSTRIAL SUPPLY | 10 | \$4.65 | \$46.50 |
| | | | | вх | PYRAMID SCHOOL PRODUCTS | 10 | \$4.89 | \$48.90 |
| | | | | вх | WEDGE SUPPLY INC | 10 | \$7.95 | \$79.50 |
| | | | | вх | POLLOCK PAPER DISTRIBUTORS | 10 | \$11.96 | \$119.60 |
| | | | | вх | XPEDX LLC, A VERITIV CO. | 10 | \$12.30 | \$123.00 |
| | | | | вх | *EMPIRE PAPER COMPANY | | | |
| | DUSTER, 51"TO 82" EXTENDED | | | вх | COMPETITIVE CHOICE | 10 | \$17.60 | \$176.00 |
| 41 | HANDLE, POLYWOOD #9442 OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 200 | \$2.83 | \$566.00 |
| | | Υ | | EA | WEDGE SUPPLY INC | 200 | \$3.51 | \$702.00 |
| | | | | EA | GENESIS II INC | 200 | \$3.89 | \$778.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 200 | \$3.96 | \$792.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 200 | \$5.17 | \$1,034.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 200 | \$6.14 | \$1,228.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 200 | \$6.85 | \$1,370.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 200 | \$6.85 | \$1,370.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 200 | \$6.98 | \$1,396.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|---|-----|---------|----------------|
| | | | | EA | COMPETITIVE CHOICE | 200 | \$8.90 | \$1,780.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| 42 | STAINLESS STEEL CLEANER, OIL BASE, 18 OZ.AEROSOL | Y | | вт | MCKINNEY OFFICE SUPPLY INCORPORATED | 350 | \$2.47 | \$864.50 |
| | | | | ВТ | PYRAMID SCHOOL PRODUCTS | 350 | \$2.59 | |
| | | | | ВТ | DBC INDUSTRIAL SUPPLY | 350 | \$2.78 | |
| | | | | | | | · | |
| | | | | ВТ | XPEDX LLC, A VERITIV CO. | 350 | \$3.00 | |
| | | | | ВТ | WEDGE SUPPLY INC | 350 | \$3.16 | \$1,106.00 |
| | | | | ВТ | *EMPIRE PAPER COMPANY | | | |
| | | | | ВТ | M.A.N.S. DISTRIBUTORS, INC. | 350 | \$6.64 | \$2,324.00 |
| | | | | вт | COMPETITIVE CHOICE | 350 | \$15.05 | \$5,267.50 |
| | DEGREASER/CLEANER, 1/GL | | | ВТ | WEXFORD LABS INCORPORATED | 350 | \$82.60 | \$28,910.00 |
| 43 | CONTAINER, M-CHEM CLEAN SPRAY OR EQUAL | Y | | GL | LAST GROUP ENTERPRISES | 600 | \$3.85 | \$2,310.00 |
| | | | | GL | *EMPIRE PAPER COMPANY | | | |
| | | | | GL | M.A.N.S. DISTRIBUTORS, INC. | 600 | \$5.25 | \$3,150.00 |
| | | | | GL | MCKINNEY OFFICE SUPPLY INCORPORATED | 600 | \$5.28 | \$3,168.00 |
| | | | | GL | DBC INDUSTRIAL SUPPLY | 600 | \$6.24 | \$3,744.00 |
| | | | | GL | COMPETITIVE CHOICE | 600 | \$25.00 | \$15,000.00 |
| | | | | GL | POLLOCK PAPER DISTRIBUTORS | 600 | \$29.82 | \$17,892.00 |
| | | | | | WEXFORD LABS INCORPORATED | 600 | \$65.76 | |
| 44 | PUTTY KNIFE, 1-1/4" BLADE, GOODELL #35012200 OR EQUAL | | 4MO | | | 200 | | |
| 44 | GOODELL #33012200 OR EQUAL | Ų. | +IVIO | | AFP SCHOOL SUPPLY | | \$0.75 | |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 200 | \$1.24 | \$248.00 |
| | | | | EA | WEDGE SUPPLY INC MCKINNEY OFFICE SUPPLY | 200 | \$1.32 | \$264.00 |
| | | | | EA | INCORPORATED | 200 | \$1.53 | \$306.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-------------------------------------|-----|---------|----------------|
| | | | | EA | GENESIS II INC | 200 | \$1.54 | \$308.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 200 | \$1.71 | \$342.00 |
| | | | | EA | COMPETITIVE CHOICE | 200 | \$1.86 | \$372.00 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 200 | \$3.05 | \$610.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 200 | \$3.35 | \$670.00 |
| 45 | WASTE CONTAINER, ROUND, 55 GAL. GRAY, BRUTE #2655 OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 45 | \$38.76 | \$1,744.20 |
| | | Y | | EA | WEDGE SUPPLY INC | 45 | \$39.17 | \$1,762.65 |
| | | | | EA | GENESIS II INC | 45 | \$40.47 | \$1,821.15 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 45 | \$41.30 | \$1,858.50 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 45 | \$48.60 | \$2,187.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 45 | \$49.98 | \$2,249.10 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 45 | \$57.69 | \$2,596.05 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 45 | \$61.82 | \$2,781.90 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 45 | \$84.21 | \$3,789.45 |
| | | | | EA | COMPETITIVE CHOICE | 45 | \$87.30 | \$3,928.50 |
| 46 | WASTE CONTAINER, ROUND, 32 GAL, GRAY, RUBBERMAID #2632 OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 350 | \$14.06 | \$4,921.00 |
| | | Y | | EA | GENESIS II INC | 350 | \$17.32 | \$6,062.00 |
| | | | | EA | WEDGE SUPPLY INC | 350 | \$17.51 | \$6,128.50 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 350 | \$18.37 | \$6,429.50 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 350 | \$18.70 | \$6,545.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 350 | \$20.52 | \$7,182.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 350 | \$24.36 | \$8,526.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-------------------------------------|-----|---------|-------------------|
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 350 | \$29.98 | \$10,493.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 350 | \$30.53 | \$10,685.50 |
| | | | | EA | COMPETITIVE CHOICE | 350 | \$37.65 | \$13,177.50 |
| 47 | DOLLY CONTAINER, FITS 32 AND 55 GAL, RUBBERMAID #2640 OR EQUAL | Y | | | *EMPIRE PAPER COMPANY | | Ç | * 10,11100 |
| 71 | GAL, NOBBERIIIAID #2040 OR ENGAL | · | | EA | AFP SCHOOL SUPPLY | 400 | \$16.22 | \$6.488.00 |
| | | | | EA | AFF SCHOOL SUFFLY | 400 | \$10.22 | \$6,488.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 400 | \$17.79 | \$7,116.00 |
| | | | | EA | WEDGE SUPPLY INC | 400 | \$18.04 | \$7,216.00 |
| | | | | EA | GENESIS II INC | 400 | \$18.11 | \$7,244.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 400 | \$19.02 | \$7,608.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 400 | \$19.39 | \$7,756.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 400 | \$21.60 | \$8,640.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 400 | \$25.65 | \$10,260.00 |
| | | | | | MCKINNEY OFFICE SUPPLY | | | |
| | | | | EA | INCORPORATED | 400 | \$47.71 | \$19,084.00 |
| | TRACH CAN CLASSROOM 28 4/8 OT | | | EA | COMPETITIVE CHOICE | 400 | \$58.84 | \$23,536.00 |
| 48 | TRASH CAN, CLASSROOM, 28 1/8 QT, BLACK | | 4MO | EA | AFP SCHOOL SUPPLY | 100 | \$2.96 | \$296.00 |
| | | Υ | | EA | WEDGE SUPPLY INC | 100 | \$3.02 | \$302.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 100 | \$3.12 | \$312.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 100 | \$3.16 | \$316.00 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 100 | \$3.21 | \$321.00 |
| | | | | | | 100 | | |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | | \$4.32 | |
| | | | | EA | GENESIS II INC | 100 | \$4.38 | \$438.00 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 100 | \$5.13 | \$513.00 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 100 | \$6.56 | \$656.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|----------|--|------------------|----------|-----|---|------|----------------|------------------|
| | | | | | | | | |
| | TRASH CAN, WITH FLIP LID, | | | EA | COMPETITIVE CHOICE | 100 | \$6.98 | \$698.00 |
| 40 | RUBBERMAID #3569/2662, CONTINENTAL #B25T1700BE OR | · · | | | DOLL COX DADED DISTRIBUTORS | | *07.57 | \$207.40 |
| 49 | EQUAL | Y | | EA | POLLOCK PAPER DISTRIBUTORS MCKINNEY OFFICE SUPPLY | 30 | \$27.57 | \$827.10 |
| | | | | EA | INCORPORATED | 30 | \$103.88 | \$3,116.40 |
| | | | | EA | AFP SCHOOL SUPPLY | 30 | \$117.85 | \$3,535.50 |
| | | | | | | | | |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 10 | NB | NB |
| 50 | AIRSOL DISPENSER, PULSE II, TECHNICAL CONCEPT #400570 | Y | | EA | DBC INDUSTRIAL SUPPLY | 10 | \$66.54 | \$665.40 |
| | | | | EA | COMPETITIVE CHOICE | 10 | \$71.78 | \$717.80 |
| | AIRSOL AIR FRESHNER, BIG D | | | | | | | |
| 51 | SUNBURST #464 | Y | | EA | WEDGE SUPPLY INC | 120 | \$2.56 | \$307.20 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 120 | \$2.69 | \$322.80 |
| | | | | EA | AFP SCHOOL SUPPLY | 120 | \$3.36 | \$403.20 |
| | | | | LA | AT SCHOOL SOTTET | 120 | \$3.50 | ψ403.20 |
| | | | | EA | COMPETITIVE CHOICE | 120 | \$4.52 | \$542.40 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 120 | \$4.75 | \$570.00 |
| | | | | | DOLL COX DARED DISTRIBUTORS | 400 | \$04.05 | #0.000.00 |
| | ODOR CONTROL, HAPPY BY CAROL, 1 GAL CONCENTRATE, DIGESTANT/ | | | EA | POLLOCK PAPER DISTRIBUTORS | 120 | \$31.85 | \$3,822.00 |
| 52 | COUNTERACTANT | Υ | | вт | LAST GROUP ENTERPRISES | 800 | \$4.76 | \$3,808.00 |
| | | | | вт | WEDGE SUPPLY INC | 800 | \$11.15 | \$8,920.00 |
| | | | | | | | | |
| | | | | ВТ | M.A.N.S. DISTRIBUTORS, INC. | 800 | \$14.80 | \$11,840.00 |
| | URINAL SCREEN WITH DEODORANT | | | вт | DBC INDUSTRIAL SUPPLY | 800 | \$17.39 | \$13,912.00 |
| | BLOCK, NO PARADICHLOROBENZENE | | | | | | | |
| 53 | CINNAMON, KLEEN SCREEN #165 OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 1300 | \$0.70 | \$910.00 |
| | | V | | E. | WEDGE GUDDLY #19 | 4000 | | A |
| | | Y | | EA | WEDGE SUPPLY INC | 1300 | \$0.82 | \$1,066.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 1300 | \$0.91 | \$1,183.00 |
| | | | | EA | GENESIS II INC | 1300 | \$1.17 | \$1,521.00 |
| | | | | | | | | |
| <u> </u> | 1 | | <u> </u> | EA | XPEDX LLC, A VERITIV CO. | 1300 | \$1.20 | \$1,560.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-------------------------------------|------|---------|----------------|
| | | | | EA | DBC INDUSTRIAL SUPPLY | 1300 | \$1.27 | \$1,651.00 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 1300 | \$2.39 | \$3,107.00 |
| | DAFFETY FLOOD SIGN A SIDED | | | EA | POLLOCK PAPER DISTRIBUTORS | 1300 | \$9.65 | \$12,545.00 |
| 54 | SAFETY FLOOR SIGN, 2 SIDED, ENGLISH/SPANISH "CAUTION WET FLOOR", CONTINENTAL #140 OR EQUAL | | 4MO | EA | AFP SCHOOL SUPPLY | 60 | \$4.09 | \$245.40 |
| | | Y | | EA | PYRAMID SCHOOL PRODUCTS | 60 | \$4.89 | |
| | | | | EA | GENESIS II INC | 60 | \$5.24 | \$314.40 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 60 | \$5.42 | \$325.20 |
| | | | | EA | WEDGE SUPPLY INC | 60 | \$5.86 | \$351.60 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 60 | \$6.44 | \$386.40 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 60 | \$7.61 | \$456.60 |
| | | | | EA | *EMPIRE PAPER COMPANY | | | |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 60 | \$7.75 | \$465.00 |
| | | | | EA | COMPETITIVE CHOICE | 60 | \$10.87 | \$652.20 |
| | | | | EA | MCKINNEY OFFICE SUPPLY INCORPORATED | 60 | \$13.92 | \$835.20 |
| 55 | STEP STOOL, PR2-W6, LARGE | Υ | | EA | AFP SCHOOL SUPPLY | 10 | \$52.32 | \$523.20 |
| 56 | FLOOR MAT, 3' X 5' OLEFIN GRAY | Y | | EA | GENESIS II INC | 50 | \$18.12 | \$906.00 |
| | | | | EA | PYRAMID SCHOOL PRODUCTS | 50 | \$18.23 | \$911.50 |
| | | | | EA | AFP SCHOOL SUPPLY | 50 | \$19.09 | \$954.50 |
| | | | | EA | WEDGE SUPPLY INC | 50 | \$19.73 | \$986.50 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 50 | \$19.85 | \$992.50 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 50 | \$30.73 | \$1,536.50 |
| | | | | EA | M.A.N.S. DISTRIBUTORS, INC. | 50 | \$37.85 | \$1,892.50 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 50 | \$42.61 | \$2,130.50 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---------------------------------------|------------------|--------|-----|-----------------------------|-----|---------|----------------|
| 57 | FLOOR MAT, 4' X 6' OLEFIN CHARCOAL | Y | | EA | PYRAMID SCHOOL PRODUCTS | 80 | \$27.01 | \$2,160.80 |
| | | | | | | | | |
| | | | | EA | GENESIS II INC | 80 | \$28.09 | \$2,247.20 |
| | | | | EA | AFP SCHOOL SUPPLY | 80 | \$30.19 | \$2,415.20 |
| | | | | EA | XPEDX LLC, A VERITIV CO. | 80 | \$30.35 | \$2,428.00 |
| | | | | EA | WEDGE SUPPLY INC | 80 | \$30.37 | \$2,429.60 |
| | | | | EA | DBC INDUSTRIAL SUPPLY | 80 | \$49.17 | |
| | | | | | M.A.N.S. DISTRIBUTORS, INC. | 80 | \$54.55 | |
| | | | | | COMPETITIVE CHOICE | 80 | \$62.00 | . , |
| | | | | EA | CONFETTIVE CHOICE | 60 | \$62.00 | \$4,960.00 |
| | | | | EA | POLLOCK PAPER DISTRIBUTORS | 80 | \$63.17 | \$5,053.60 |